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not exact, give the answer to three significant figures.
Give answers in degrees to one decimal place.
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1 You are given the following sequence 3, 2, 6, — 54.

(a) Write down the missing number in the sequence.

ANSWEF (@) woveeeeieieeeeeeeeccciieeee e, [1]

(b) State the rule for generating the sequence.

ARSWEF (D) o, [1]

2 Using appropriate units, complete the statements to make each one of them reasonable.

(a) The mass of aboy isS 60 ........cceeeevverveeennnnnns [1]

(b) The distance from Manzini to Nhlangano is 100 ............cccceeevevveennene [1]
3 A={1,2,3,4}

B=1{2,4,6,8, 10}

(a) Find n(B).

ANSWEF (@) oooeeeeeeeeeeeeeeeciieeeee e, [1]

(b) Write down each element in the correct region in the Venn diagram. [3]

A B
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4  You are given the following matrices. "

3 oels YJone-(y )

00 7 —4 01

Work out
(a) A+B,

Answer (a) [1]
(b) AB,

Answer (b) [1]
(¢c) CB.

Answer (c) [1]

5 (a) Express 25% as a fraction in its simplest form.
ANSWET (@) e [2]

(b) On a particular day the rate of exchange of the Lilangeni to the US dollar is E7 = US$1.
Nompumelelo is going to America and has to change E4200 to US dollars.

How much money does she receive?

Answer (b) US$ ..covvvviiiiiciieee, [2]
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6 (a) Sand Q are points on the circumference of a circle. "

PS and PQ are tangents to the circle at § and Q respectively.

0 NOT TO SCALE

P
S
What kind of a triangle is PQOS?
ANSWET (@) e [1]
(b) JKLM is a circle with centre O.

JK and LM are chords such that JK = LM.
The distance of chord JK from the centre O is 4 cm.
The distance of chord LM from the centre O is xcm.

NOT TO SCALE
Write down the value of x.

ARSWEF (D) .o, [1]
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Sipho invests E500 in a bank at the rate of 8% simple interest per annum.
Calculate the interest Sipho earns after 6 months.

Answer E ... [3]

8 CZY 1s a horizontal line and NR is a vertical line.
NCR=35°.

C 33 N

Find the angle of depression of C from R.

NOT TO SCALE

ANSWET oo °[2]
9  The following flow chart represents a function.
input =4 +1 output
(a) Find the output when the input is 8.
ANSWET (@) e [1]

(b) Complete the following flow chart to find the inverse of the function.

input —=—— 4

input —<——

+1

————— output

——<—— output

(2]
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10 Write the following statement as an algebraic expression.

Subtract twice the sum of x and 9 from m.

Answer

11 Work out 6.2 X 10° + 2.1 x 102, giving your answer in standard form.

Answer

12 Themba carries out an experiment to find the probability of getting a head or tail using a coin.

He throws the coin 10 times.

The results are shown in the table below.

Number of tosses

Number of heads

Number of tails

10

7

3

(a) From his results in the table, estimate the probability of getting a head.

Answer (a)

(b) To get more accurate results, what do you suggest Themba should do?

ATISWEF (D) oottt ettt e e e et e e e e et e e e e e et e e e e e e ——r e e e e e e e naarraans
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13 (a) Remove brackets and simplify o
(a—5)(a+4).
ANSWET (A) wooooeeeeeeeeeeeeeeeecieeee e, [2]
(b) Factorise completely
xt+x—12.
ARSWEF (D) o, [2]
14 (a) PQRS is aregular four-sided polygon.
What special name is given to the polygon PORS?
ANSWET () woveeeeeeeeeeeeeeeeeeeieeeeeeie [1]
(b) DEF is a triangle.
F
E
D
(i) Draw a bisector of DEF. [1]
(ii) Draw the locus of points equidistant from D and F. [1]
(iii) Draw the locus of points 4cm from D. [1]
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15 OAB is a sector.
ThAe radius OA is 6 cm.
AOB =90°.
A NOT TO SCALE
6cm
0] B

Calculate the length of arc AB. [Use = = 3.14]

ANSWET oo cm [3]
16 A model of a real ship is made to a scale of 1 : 10.
(a) The length of the model ship is 8 m.
Calculate the length of the real ship in metres.
ANSWET (@) oo, m [2]
(b) The real ship has 50 seats.
Write down the number of seats in the model ship.
ANSWET (D) oo, [1]
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17 The table shows marks obtained by learners in a test.

Marks

Frequency

4

2

4

12

10

R0 | | | DN

7

(a) How many learners got 7 marks?

ANSwer (@) .....eeeeeeeeeeeeeeanainn

(b) How many learners were there altogether?

Answer (b) .....cccovveeeeeeeeeecnnnnn.

(¢) On the grid, draw a frequency polygon to show this information.

Frequency

13 ......... .......... ......... ......... \ ......... ......... ..........
12
1 |

0

Marks
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(2]
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18 The diagram below shows the graph of y = 2x + 4. o

YA

y=2x+4

(a) The point (-1, b) lies on the line.
Write down the value of b.
ARSWEr (A) b =.ccccvveiieeiiieieciie e, [1]

(b) Write down the coordinates of the point where the line crosses the x-axis.

ANSWET (D) oo, [1]
(¢) On the axes above, draw the line y =—2. [1]
(d) Use your graph to solve the equation 2x + 4 = —2.

ANSWEr (A) X = oo [1]
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19 The diagram shows OA.

A
7
(0]
(a) Express OA as a column vector.
Answer (a) [1]
w o3[ )
( ) - 2 .
On the diagram, draw 0B. [1]
(¢) Express OB— OA as a column vector.
Answer (c) [1]

Question 20 is printed on the next page
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20 KLMN is a field such that KL = 100m, LM = 90m, MN = 70m, KL.M = 120° and LMN = 70°. o

L 90m

NOT TO SCALE

Using a scale of 1 cm to 10 m, make an accurate scale drawing of the field KLMN. [4]
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